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FYT 1 : SUMNT B UM I 99d & o= GaY T I HAT 8 |

FYT2 : IYUT B h G Hh Bl & — T 9T I YR 399 |

feu U seET % AT H, Hfaiad § 9 gEl faehed 1 =99 v

(A) HIT 19T 8 3N HAT 2 3ATH 8 |

(B) a7 13T 8 M FAT 2T B |

(C) YT 13 2gH acF 2 |

(D) A 13 2gHI 3T 7 |

qgaTe b Ffaifga # @ - TR oI X uomet ek @9 787 8 | 1
(A) o @ b fera ghfead e
(B) Togzf 951 & 3169 AT AR hi HHIEHT

(C) Tocsft gg1 9T9R | dgarst W Ush T
(D) wHfS-AeET Hifadt o1 THag glausHes g ST 8
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General Instructions :

Read the following instructions carefully and follow them :

(i) This question paper contains 34 questions. All questions are compulsory.

(it)  This question paper contains two sections :

Section A — Macro Economics
Section B - Indian Economic Development

(iti) This question paper contains 20 Multiple Choice type questions. Each question
carries 1 mark.

(iv) This question paper contains 4 Short Answer Type-I questions. Each question
carries 3 marks. Answer these questions in 60 to 80 words.

(v) This question paper contains 6 Short Answer Type-1I questions. Each question
carries 4 marks. Answer these questions in 80 to 100 words.

(vi) This question paper contains 4 Long Answer type questions. Each question
carries 6 marks. Answer these questions in 100 to 150 words.

(vii) Attempt all parts of a question together.

(viii) In addition to this, note that a separate question has been provided for Visually
Impaired candidates in lieu of questions having visual inputs, map etc. Such
questions are to be attempted by Visually Impaired candidates only.

(ix)  There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
has to be attempted.

SECTION A
Macro Economics

1. Read the following statements carefully : 1

Statement 1 : A consumption function describes the relationship
between consumption and savings.

Statement 2 : Consumption function consists of two components —
autonomous consumption and induced consumption.

In the light of the given statements, choose the correct alternative from

the following :

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.

(D) Both Statements 1 and 2 are false.

2. Identify which of the following is not one of the merits of fixed exchange
rate system. 1
(A)  Ensures stability in exchange rate
(B)  Possibility of under or over valuation of foreign currency
(C)  Prevents speculations in foreign exchange market
(D)  Coordination of macroeconomic policies becomes convenient
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3.  Ugai-u foh F=faiRea § & o YR o YTae GdeH o el @id o Sfee 98 |
T ST@ | 1
(A) T ¥ TH WRA g Afva gty
(B) Tocur # wfrafa & v gro frem
(C) Tortlt smfeht Sot gra foret YRt ot & 3790 (shares) T
(D) YXA ¥ TETAl 1 i

4. Tafafga fom &1 eFgds T=a hivie 9o T wom & 9fd o fae @&

EETREEARCRERCAIT I 1
=
LCIG1
|
|
H1e] @l g5ft @
[ -
aegA g | | R
=TI WA
forepey
(A) fraw (B) WaTl hi SR
(C) <Tgd = (D) «Ted gl
5. Tfafaad el w1 ergdes e HINT 1

FI7 1 ; Tohell TS 1 SA(UH &F I Uil HHT Th & 8d 3 |
FY72 ; WA B N e, urd & ofie &= fawm 7 |
fau T el % Al H, MHEfaRad § | €8 foehed 1 == HINT
(A) HIT 19T 3 3N HYF 2 30A 7 |

B) HIT 1ITILIMFM 2T 2 |

(C) YT 13M 2N T2 |

(D) A 13 2 THI M 7 |
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3. Identify which of the following will appear on the debit side in the
Capital Account of India’s Balance of Payments. 1

(A) An Indian sending remittances from England
(B) Investing in assets abroad by Indians
(C)  An American company purchasing shares of an Indian company

(D)  Export of spices from India

4., Study the following figure carefully and choose the correct alternative to
fill in the blank : 1
Balance of
Payments
Account
|
| 1
Current Capital
Account Account
|
Trade in Transfer
merchandise Payments
Alternatives :
(A) Investments (B) Trade of Services
(C) External Borrowings (D) External Assistance
5. Read the following statements carefully : 1

Statement 1: Economic territory and political frontier of a nation are
one and the same thing.

Statement 2 : American Embassy in India is a part of the economic
territory of India.

In the light of the given statements, choose the correct alternative from
the following :

(A) Statement 1 is true and statement 2 is false.
(B) Statement 1 is false and statement 2 is true.
(C) Both statements 1 and 2 are true.
(D) Both statements 1 and 2 are false.
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6. THMIRGd T 1 LAFYAh LA HIIT 1
Fo7 1 : gl 98 9] 8, o6 ATERUGAT fafHHT % ATeIw o €9 § TEhR R
ST 2 |

HIT2 : G+ SATALIHRATN oh Grad TANT hl THET i A a1 T |

feu U el % I H, faiad # ¥ wE) ooy w1 =e hifv
(A)  HIYT 19T g 3 HF 2 30 3 |

(B) I 130T L N FIT2TT 2 |
(C) <heH 13X 22H 9T & |
(D) ST 13K 23T 36T B |

7. UH AU fh T Freufe redegaeen #, TRR 3TN = T 500 HUS qAT

HHrd 3N Ygfd = 0-8 7 | A1 1efeaEen & fofv s=Id ha B |
(T=h T 9 & fow T ooy &1 =@ difvm) 1

(A) 500+ 0-8Y (B) (=) 500 + 0-8Y

(C) 500+ 0-2Y (D) (—) 500 + 0-2Y

8. Tafafga sumt &1 srerm Hifve : afiepem (A) 3tk &R (R) | = fgu g
faehedl o @ =&l fashed FHT 1
STHYT (A) : HHE S=d Igrd (MPS) I Uehad oI IS 8 Tohdl @ |
PRU(R) : AT o HHER W, T I 8 8 |
forerey
(A) ANHAT (A) IR BRI (R) GHI T & AR HR (R), THHAT (A) hl

& AT HLT 8 |

(B) AR (A) IR SO (R) Al TcF 8, Afhd RO (R), AMTHAT (A)
1 Tl AT FgT w1 B |

(C) IR (A) T B, Wihd RO (R) I8 3 |
(D) 3R (A) T 7, Afehd IO (R) T 3 |
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6. Read the following statements carefully : 1

Statement 1: Money is a commodity which is generally accepted as a
medium of exchange.

Statement 2 : Money solved the problem of double coincidence of wants.

In the light of the given statements, choose the correct alternative from
the following :

(A) Statement 1 is true and statement 2 is false.
(B)  Statement 1 is false and statement 2 is true.
(C) Both statements 1 and 2 are true.
(D)  Both statements 1 and 2 are false.

7. Suppose in an imaginary economy, autonomous consumption = ¥ 500 crore

and marginal propensity to consume = 0-8. The saving function for the

economy would be

(Choose the correct alternative to fill in the blank) 1

(A) 500 + 0-8Y (B) (=) 500 + 0-8Y
(C) 500+ 0-2Y (D) (=) 500 + 0-2Y

8. Read the following statements : Assertion (A) and Reason (R). Choose the

correct alternative from those given below : 1

Assertion (A) : The maximum value of Marginal Propensity to Save
(MPS) can be unity.

Reason (R): At the break-even level of income, savings are zero.

Alternatives :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C)  Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.
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Tehe ARIAT U (CRR) & @l H, 3@y HU i UgaH il :

Ig AT o Grate SHT ST o Ueh Hivad Ui 7, ™8 I S ol
HgT S o T Tohe WeR (TNfTd) ®9 § T B 7 |

Ig H I ok g i fomam STar @ |

K=Y

I ITIUITSeh Sehl I SRR 8l gidl & |

I hold S g Ieedl § H@ i i fREhE s W Tgw T
39 BIAT & |

10. Tr=fciRga et i ufeu : rfiyshed (A) 3 &R (R) | Fi= feu mu fospedi d
T Tgt fasew e .

fFeT (A) : AW H Ggad R q9 (gifi@ gar 3, 99 Y[ = 9

TR 3cdTe Toh-GER o SR M & |

HRU(R) : T Wl Hgad TR, Icd1ed o qo1 YSTR T o T AT STEHAM
&l Hohdl 2 |

IECTE

(A) AR (A) AR HROT (R) qHI HF & 3R HRU (R), AHHAT (A) I

(B)

()

(D)
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&l ST T 28 |

AR (A) I SR (R) SHl T &, Wlhd BRI (R), TR (A)
1 TE AT 7T BT B |

JAYHAT (A) T &, Afehd SR (R) AT 8 |

AR (A) T B, Afehd SR (R) T 3 |
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Identify the incorrect statement with reference to Cash Reserve Ratio

(CRR) : 1

(A)

(B)

(C)

(D)

It is a certain percentage of demand and time deposit liabilities
that every bank must keep as cash reserves with the Central

Bank.
It is fixed by the Central Bank.
It is not binding on the commercial banks.

It is a tool used by the Central Bank to control the credit creation

in the economy.

10. Read the following statements : Assertion (A) and Reason (R). Choose the

correct alternative from those given below : 1

Assertion (A) : The equilibrium level of income is determined, when

ex-ante spending and ex-ante output are equal.

Reason (R): The equilibrium level of income may or may not be the

same as the full employment level of output.

Alternatives :

(A)

(B)

(C)

(D)

12-58/2/1

Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of Assertion (A).

Both Assertion (A) and Reason (R) are true, but Reason (R) is not

the correct explanation of Assertion (A).
Assertion (A) is true, but Reason (R) is false.

Assertion (A) is false, but Reason (R) is true.
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s
NN o haN

(%) “TIM GgeH @Id | fERaT ST W@ o e FHEisHeil o Tt ST
% |”

J9 TSR W A1 feu 7T Hed Hi gise HINT | 3
Jrran
(@) “Hg1 1 qeagrE foret Tsg o 37 ohl FicdTied o Hehal & |
=T et o A1 U 7T whem 1 queH A1 Wed i | 3
H= fou U AfeRet & YR W, HEH AN W Fehal TN 3G (GNPpe)
Hed I 3TehaH hIT : 3
e i (¥ g@' 7)
(i) q9gdl & oA 2,000
(ii) foptr 9 &S 700
(iii) e 500
(iv) AT &Y 300
(v) feor gt 1 3awm 200
(vi) | 150
(vii) | facsn @ Ted 3g |red o™ (=) 50

Ueh ehicU-eh JATGEAT & foTU, I8 AW fioT {6 TSR T 10,000 HUS
giard) giamra Faw wuft | sreferawen § sifdfth 31 1 80% 3w BT 2 |
Aferaedt H A H glg A Iqeh IIEY IUATT = H Fhg H1 HTeheH
HIT | 4

(%) “afg gof U T@ W, sifow awgent i awafoss #wim sifow awget &
qfIeh 3CATe | A &I, A1 399 WGl (Inventory) 1 3UTEd €=
B HhaT 8 |7

7 379 feU T HIH @ TgHd g ? 39 I ok gudd § HI hRu AT | 4

AT
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“Accommodating transactions are undertaken to maintain stability
in the Balance of Payments Account.”

Justify the given statement with valid explanation. 3
OR
“Depreciation of currency may promote exports of a nation.”

Defend or refute the given statement with valid arguments. 3

On the basis of the data given below, estimate the value of Gross
National Product at Factor Cost (GNPg) : 3

S.No.

Items Amount

(in < crore)

(1)

Wages and Salaries 2,000

(ii)

Rent and Interest 700

(iii)

Corporate Tax 500

(iv)

Undistributed Profit 300

(v)

Consumption of Fixed Capital 200

(vi)

Dividend 150

(vii)

Net factor income from abroad (=) 50

For a hypothetical economy, assume the government increased an

infrastructural investment by ¥ 10,000 crore. 80% of additional income is

consumed in the economy. Estimate the increase in income and the

corresponding increase in consumption expenditure in the economy. 4

(a)

12-58/2/1

“If actual demand for final goods falls short of the actual output of
final goods corresponding to full employment level, it may lead to

an unintended accumulation of inventories.”

Do you agree with the given statement ? Give valid reasons in

support of your answer. 4

OR
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(@) fm=faRea arferst @t qU AT | 3 % T 200 S H TR T 3990

%o k1 a0 il | 4
377 (Y) T4 (S) 31GT ITYIT Fghi | HHIT FGT IFIT
(FHIsH)| (T HIsH) (APC) (MPS)
0 (=) 50 _
100 | s
200 | 34 |
300 | ol 2/3 e
15. W fiFd o TR & dfohT TiFed o Ja9 sl g qul Sl il & |
YR fd o grT foht, T 39tk il <l ==l il | 4
16. (F) (1) ISR I L AU FL o HeF T TI HIT | 3
(i) EHH T o I o YAGAUT IeTT hl SATEAT hHITT | 3
arerat
(@) () uE A o e wreufe rderewr & fou afafea siee
wega fepe Tw g 4
: : T
#.3. = (¢ 0 3)
(i) Exguitell 1,200
(ii) o =99 3,700
(iii) prdcagite 2,000
(iv) U7 Shl THA 145
(v) ISHTd = 500
(vi) fafram 120
(vil) SIS bl YA 1,070
TS =1 F TSN |1 shl TUHT <hIfT |
(i) "SI TG qAT FTasl-eh 3cqTed H 3Tt T hifoy | 2
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(b)  Complete the following table. Construct the consumption function
at ¥ 200 crore level of income. 4
Income (Y) | Savings (S) | Average Propensity Marginal
(in < crore) | (in Tcrore) | to Consume (APC) | Propensity to Save
(MPS)
0 (=) 50 — —
100 | ...l 1
200 | ...l 34 |
300 | ...l 213 |
15. Reserve Bank of India undertakes the important function of managing
the government’s banking transactions.
Discuss the above stated function performed by the Reserve Bank of
India. 4
16. (a) (1) Distinguish between direct tax and indirect tax with the
help of suitable examples. 3
(ii)) Explain the ‘redistribution of income’ objective of the
Government Budget. 3
OR
(b) @) Suppose the following data is presented for an imaginary
economy : 4
S.No. Items Amount
(in < Crore)
(1) Tax Receipts 1,200
(i1) Revenue Expenditure 3,700
(iii) Non-Tax Receipts 2,000
(iv) Recovery of Loans 145
(v) Capital Expenditure 500
(vi) Disinvestment 120
(vii) Interest Payments 1,070
Calculate Revenue Deficit and Fiscal Deficit.
(ii)  Differentiate between public provision and public
production. 2
12-58/2/1 Page 13 P.T.O.
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17. TfaRad w1 eHgEes s1eRE i

3cUTed Ufsham § 3IcTed o 9eHl g fou u foly e fgqument &t
IYTT Y | JHIIId S Fehd & | 3H THR o JHTG s IR 3T SATH B &
TG-g TS 3T 1 STehal hid THT $= & | 81 T@T a1 7 | el 3=
STEIATC had 2 a7 I STl HehicHeh AT TehRIcHeh & Tehdl B |

39 HeY H, Ty TTEA Uiy Aqead gHTad & % fole shreH
TeI-FaRuT 1 T Agqul 3T & €4 H IUAN - I GIE d & |

Ha Jod-HaRo A1 qt Icasi W [ooh TR I hH e W dfedet
Tt WHEIRY NE IcdsH bl FIG 1 <hl Il shidm 8 | shred &, U9 99,

Feh! oo, 3ME Y TTEET o ATEqH ¥ ITAMEAT 39 YhR hl FhRIcHS STEIdarsti
I TUT - ATt GHA qohr1eh shl AT T B T FoIE ¢d & |

feu U T qen W wHe o IMYR W, FEfdRad TeAl % I SN ¢

(i)  STerarsTi s aReTia Hif | 1
(i)  HhRIcHS o ThIIcHeh STRIAIST o HET 3T TI HiNT | 2
(iii) foeaR @ SaEy fob HeA gea-HgRer o Y g R AedTed fhar [T
1T | 3
Qs @
WA 3rfeler farerma
18. fofew &= & <H, W & foesht =R o ! DIGHL hs fRITATL
off |

(Th T WA & fotu Tt fashew &1 =99 difsw) 1
(A) IE 3TEH, AR 9 Teh <l Sfdeercge =t
(B) WA o Taid 9 3mmd W fefesr wawifier
(C) WRd ¥ IV fovd & AT g =mR
(D) e foarfer sfere
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17. Read the following text carefully :

Decisions taken by factors of production in the production process
often may affect the stakeholders indirectly. Such impacts at times are
huge but are not accounted for, while estimating national income.
Economists call them as externalities and they can be positive or

negative.

In this regard, many economists suggest carbon pricing as an

important tool to ensure ecological balance.

Carbon pricing tries to control greenhouse gas emissions by either
placing a fee on emitting or offering subsidies on lesser emission.
Through instruments like carbon tax, green cess, eco tax, etc. economists
suggest moving towards greener technology eliminating such negative

externalities.

On the basis of the given text and common understanding, answer the

following questions :

(1) Define externalities. 1

(ii))  Differentiate between positive and negative externalities. 2

(iii)  Elaborate how and why carbon pricing should be promoted. 3
SECTION B

Indian Economic Development

18. During the British rule, India’s foreign trade had various features except

(Choose the correct alternative to fill in the blank) 1
(A)  Restrictive policies of commodity production, trade and tariff
(B)  British monopoly over India’s exports and imports
(C)  Free trade from India to the rest of the world

(D) Large export surplus

12-58/2/1 Page 15 P.T.O.

.
Qcollegedumas
India’s largest Student Review Platform



L
| O

19. % HRU FH o fig SHEe gfg @ @ fEba w0 § aem
g7 o7 |
(fh T 9 & fotu @&t foepe o1 =9 Shif)
(A) 3% gar
(B) Tha f3rgy Hifd
(C) W8 A8 ATEhideh ShIld
(D) Torm amfdfr &
20.  IMYHHRT Th Hewaqul (R e 3899 g, S T higd 7 |
(feh TIH 9 & ot Tt foepew o1 =39 i)
(i) 7 ENfEh S ST
(i) ™ g FuRd % U faawm
(iii) TR GISEHhIT H FhNIHS THad M
oy
(A Had (i) B) () AR (i)
(C) (i) AR (i) (D) (), (i) 3R (i)
21. N # gaAW g Aenfiee o i S 1978 ® @1 fohu U anfdes gumi |
QIS ST Tehd! &, STal |
(feh T 9 & ot Tt foepew o1 =99 i)
() IRW ¥ PN, faeeh =mm g faw &5 § gar 3% e e
(i) SR Hea-FaRor 6 fifd s T8 off
(i) TR 7 fomy smfeis &= i ifq @1 T T e o
ICETIE
(A  Had (i) (B)  had (ii)
(©) () AR (i) D) (@), (i) 3R (i)
12-58/2/1
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China was able to control its rapid population growth rate owing
to

(Choose the correct alternative to fill in the blank)
(A)  Economic reforms
(B)  One-Child Policy
(C)  Great Proletarian Cultural Revolution

(D)  Special Economic Zones

Modernization is an important economic planning objective that focuses

on

(Choose the correct alternative to fill in the blank)
(1) Adoption of innovative technology
(i1))  Equal distribution of income and wealth

(iii)  Bringing positive changes in the social outlook

Alternatives :
(A)  Only (1) (B) () and (ii)
(C) (1) and (ii1) (D) (1), (i1) and (ii1)

The present day rapid industrial growth in China can be traced back to
the economic reforms introduced in 1978, where

(Choose the correct alternative to fill in the blank)

(1) initially reforms were initiated in agriculture, foreign trade and

investment sectors
(ii)  the policy of dual pricing was adopted

(iii) the Government revoked the policy of Special Economic Zones

Alternatives :
(A)  Only (1) (B)  Only (ii)
(C) () and (i) (D) (1), (i1) and (ii1)
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SFTC W@ 9 g i H T il g |
(Th T w3 & fore @&t fashew &1 =am difse) 1

&l T el 3, o1 R R T ) greaifi

(A) URYfh (B)
(C) THMEMH® (D) wg&H (Multi-layered)
23. fAfIRad el 1 SAFYdsh T HINT 1
FYT 1 ; R, e o = shl Hifceh Grame TU=aisti § dl il AT
7, UG=q 3! Teiifcreh saemd foespa fie 8 |
FYT2 ; ARG 9 YIhEdH 2l 4 Tsh g1 oil &7 fowpfta 3 W 3ifees oo
feam o |
feu U oAt & Itedres 1, f=feifga @ ° @&l oo &1 w=w Fifve
(A) YT 1TT 8 3N HIH 2 3T H 8 |
B) AT 13ITT 2 AN FAT 2T B |
(C) AT 1IN 2T TFF B |
(D) YT 13 2SI FEH B |
24, WS Yot I % @Al 6l Ig= hie g ek ToH 9 o e w@l foehed 1
T HifvT | 1
foenm w
IEETIE
(A) T WY J foamaal 7y
(B) dohdich T J JH W
(C) Jd™Ed YT oI d I YT I
(D) T WY 9 Ja1Ed W o9
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farming is a system that is helpful in restoring, maintaining
and enhancing the ecological balance.

(Choose the correct alternative to fill in the blank)
(A) Conventional (B) Organic
(C)  Chemical (D) Multi-layered

Read the following statements carefully :

Statement 1: India, Pakistan and China have similar physical
endowments, but totally different political systems.

Statement 2 : Both India and Pakistan laid great emphasis on creating
a large private sector.

In the light of the given statements, choose the correct alternative from
the following :

(A) Statement 1 is true and Statement 2 is false.
(B) Statement 1 is false and Statement 2 is true.
(C) Both Statements 1 and 2 are true.
(D) Both Statements 1 and 2 are false.

Identify the sources of Human Capital Formation and choose the correct
alternative to fill in the blanks.

Expenditure
on Education

Expenditure
on
Information

Sources 0
Human
Capital

Formation

Expenditure
on On-the-
job Training

Alternatives :

(A)  Expenditure on Health and Expenditure on Schools

(B)  Expenditure on Technology and Expenditure on Knowledge
(C)  Expenditure on Migration and Expenditure on Knowledge
(D)  Expenditure on Health and Expenditure on Migration



L
| O

25. WioH 1 ¥ feu T 4fiehi o TR & Shicw 11 § U U % & Topfd i T@
g hIFT 1
HIcTH [ HiciH 11
1. | €5 Sl gHM 1 ATt () | FrafE aqaarf
2. | Trmfor weorg (i) | 3Tefere fegrdl wogh
3. | Tafaer srfyman (engineer) (111) - fnfaa
IEETC
(A) 1-(1); 2—(11); 3—(1i1) (B) 1-(11); 2—(1); 3—(ii1)
(C) 1-(111); 2—(11); 3—(1) (D)  1-(i1); 2—1); 3—(1)
26. AT YU i AN A b U, TTREAH - SR | foepd |
T 1 AgHE foha B |
(feh T wa & fore gt fasped &1 =3m Fifse) 1
(i) Y &= o1 AR g
Gi) faesn @ fodwo w srcafees fafear
(i)  TeHITaes SAfean
ICETC B
(A) (1) 3R (i) (B) (i) 3R (iii)
©) @), (i) 3R (i) (D) () 3 (iii)

27. Tr=fafed oAl &1 ufeq : 31fipred (A) 3TR RO (R) | = feu 7u fosheqi #
o Tgt fashed ﬂﬁQ : 1
STYHIT (A) : T o [l H, YA ATGE UTTHEN Hafg hl T h1

T L & R
HRU(R) :  UHINEH Tdfg & e 7, U et feufa et wh stefemacen
arfafes TR Scum fope fomm oaferss ageti SR Tamsti o
IcdTeT U | HeH B |
IEETE IR
(A)  SAMYH (A) IR B (R) gHI TF § 3T BRI (R), NMHI (A) i
e AT LT B |
(B) AR (A) IR ST (R) SHI TcT 8, Afhd RO (R), AMHAT (A)
&1 T RS FgT AT B |
(C) ITYHI (A) T B, Wihd RO (R) T 7 |
(D) 3R (A) ITHT B, Afehd IO (R) T 3 |
12-58/2/1
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From the type of workers given in Column I, identify the correct nature of
work in Column II :

Column 1 Column I1
1. Cement shop owner (1) Regular salaried
2. Construction worker | (ii) | Casual wage workers
3. Civil engineer (iii) | Self-employed
Alternatives :
(A)  1-(1); 2—(i); 3—(iii) B)  1-(ii); 2—(1); 3—(iii)
(C)  1-(ib); 2—(11); 3—(1) (D) 1-(ii); 2—(1); 3—(ii)

After the implementation of economic reforms, Pakistan experienced
slowdown of growth due to various reasons including

(Choose the correct alternative to fill in the blank)
(1) Volatile performance of the agriculture sector
(i1)  Over-dependence on remittances from abroad

(iii)  Political instability

Alternatives :
(A) (1) and (ii) (B) (ii) and (ii1)
(C) (), (11) and (1i1) (D) () and (iii)

Read the following statements : Assertion (A) and Reason (R). Choose the
correct alternative from those given below :

Assertion (A) : In the recent past, Indian economy has been facing the
problem of jobless growth.

Reason (R):  Jobless growth refers to a situation where an economy is
able to produce more goods and services without
generating additional employment.

Alternatives :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.



ri)
| Op sy

28. (%) “TI9-HEEdl GE UM & H AIreR-ofides fowm % faw diewmsd
TGH & & |7
IY TSR0 o 1Y fU 7T oM i gfee i | 3

AAAT

(@) “9Rd &R 4, HY o yoret o JEiv &l § odedl Scared
Tfafafern & a1y Tigd s & fIU 3 heq 38w |1
FIT 39 feU MU hed § HgHd § 2 3794 IR & GHYA H hI < 9Y HA

AT | 3

29. feu v fam hi =amEn HifSe qun 3@ uiiifeafas 3T9er 999 9 U o fow ford)
Tsh WHIG Al e hifay | 3

| i

qie : FEfTRaa S Fact greaTiera ahieriefa & 1o7g Yo7 987 29 % TIH W |

i fosm o 3 1 919 G o faw bl @ wiifast &1 Seor@ i | 3
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28. (a) “Self-Help Groups provide stimulus to socio-economic development
in rural areas.”
Justify the given statement with valid explanation. 3
OR
(b)  “The Government of India has taken various measures to align the

agricultural marketing system with the growing production
activities in the rural areas.”
Do you agree with the given statement ? Give any two valid

reasons in support of your answer. 3

29. Interpret the given picture and explain any one strategy to control it from

becoming an ecological disaster. 3

Note: The following question is for the Visually Impaired Candidates
only, in lieu of Q. No. 29.

State any two strategies to achieve the objective of sustainable

development. 3
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30. (%) Toifesr oME & GRE WA $N &F I TdaH sHH It foheal a hiehi

i ==l ST | 4
HAAAT
(@) 1991 % o7k RN o SNF TR g YRW FRU U &t =aeen #
FUR & Fatad fordl gl SgRIhT U™ W ==t i | 4

31. “forelt Tsg % WA IS T 9 sTifedek fohE o Wed gAToRe Heded gidl
%l’,

HIT SIS o6 |1y TG T e i gfee hifsu | 4
32. = feu 7u ISl & YR W, YRd o AT H IAET 9 UTIR & &R
gierdHl 1 == hifsu 4

2018 - 2019 H TTTR 3R Thet Hod AT (%) h &F I

o FHT JoF FeT 7 I HIIIT HT 1R
YRa | &7 | wieET | YRa | T | wileed
SN 16 7 24 43 26 41
ITM 30 41 19 25 28 24
qard 54 52 57 32 46 35
FA 100 | 100 100 100 | 100 100

HiT: T179 [a1E RT12 2019 : TRET 377 Iafee & Tq& dab, 2019

33. (%) 1) “Afvar v feht w1 0 Fafia FU=r & €9 0 wRE 8, T8 98
sftres foges 8 17

FIT I8 ST/ & | $REd 8 ? 39 3T & 0 §

3¢ SR T | 2

(i) YA H SO & 3Tehal & fohegl @ Eidl ol ool hIfST | 1

(iii) YRG § AfFer feqm =1 Wicangd o hl TMavTehdl i foarR ¥

T T | 3
JAAqT

@) ()  “orght e < gan |, g & | snfde wfafafert @ @

WrftgrRl g 3Afees gl 8 17

fou T sem Y gfee Hifsr | 3
(i) Y=o SUSIT sl gierfeg shifu | foreft 291 & Icuteq 9 Uem @@
THoh THTE] ol Sooi oY | 3
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30. (a) Discuss any two factors that lead to stagnating Indian agriculture

sector during British rule. 4
OR

(b)  Discuss any two liberalization measures pertaining to the tax
reforms, introduced by the government, during the economic
reform process of 1991. 4

31. “There exists a positive correlation between human capital formation and
economic growth of a nation.”

Justify the given statement with valid explanation. 4

32. On the basis of the data given below, discuss the shift in output and

employment sector-wise, in India and China : 4

Sectoral share of Employment and GVA (%) in 2018 — 2019

Sector Contribution to GVA Distribution of Workforce
India | China | Pakistan | India | China | Pakistan
Agriculture 16 7 24 43 26 41
Industry 30 41 19 25 28 24
Services 54 52 57 32 46 35
Total 100 100 100 100 100 100

Source : Human Development Report 2019 : Key Indicators of Asia and
Pacific, 2019
33. (a) (@) “Amita is a regular worker in a private firm that employs
twelve hired workers.”
Is she working in the formal/informal sector ? Give valid

reasons in support of your answer. 2
(ii)  State any two sources of data on unemployment in India. 1
(iii) Elaborate the need to promote women’s education in India. 3
OR
(b) (1) “The participation rate of people in economic activities in
rural areas is more than that in urban areas.”
Justify the given statement. 3

(ii))  Define disguised unemployment. State its implications on
output and employment in a country. 3
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frfcTied @ o1 e TerE HINT
TAAAAT 3T ARA hi ffeh Hifd 1 geda: 1948 @ s Hifd ¥ehed &
el T YRR foam o | 3uw Ui fEa © SEnn % fash@ &l Wiedned o,
TRl S 9 TIAHd i o AW § GRSl g0 SR W o feam =
o | 394 A9 & % folu s Afsha @ yq@ fieht i aftehedar 61 T8 off |

AT fEnfes Hifd Wehed, 30 3, 1956 H YU WAl g TES o THE TT
T AT | 39 Hehed H GIa T o Toh, “USd 3ew¥ % ®U § orefeawn %
ATSIETE] &id ol 3TIA o F1Y9-H1Y JioHTeg o digl faehr 6l Arawehdr 2 |
$G%h O g 319w g foh YIS 9 9aies T o Gyt ST Aoal Fras(-eh
39T BT Hresli-eh &7 o 3T 8 =118T |

I IUI S AfG-SATavash & a1 o 58 Tm W ey i steavEeRdr g 3
(STt et TS & IGH X Tohal 8), Ia Wl AT & o AefiT g1 =nfge |
AT TS ! IT o Hie foemmd o U goaer Sterficd 78w e g |7

g Fehed TN I 14 AT | affehd T &
o T A H @ TS ugel Aot W W@ 3T wiHa §, T wioss # fowa
T <1 foo e gnft |

o EQ FUft H, SFgYET B H 9 I fou ¢ § W IAUR TSH % EEiiied dTd
B | graifes, 399 s Sgm @ +ft wrfier <6 3edfie < Sra |

o Tt goft 4w wft I W st TR B, e I o o T
& 1 T 9 3TH W R B |

few T e qen T wHw & YR W, Fefdfaa Te % 3w A

(i) “9Rd WeR 4, e famm & yriyes awi § sfenfies fowm o
TSl & o foTT St fiep W & fezm o |7

39 I h THIT H BN <d g, 39 oA hl Yfed HIT |

(i)  frenfies fifd Tehed, 1956 o ATIR fafira ST § 3T o arfiehtor
&1 FI@T eqd i 3R == SIS |
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Read the following text carefully :

India’s industrial policy since independence has been shaped broadly in
terms of the Industrial Policy Resolution of 1948. It emphasized on the
sole responsibility of the government in the matter of promoting,
assisting and regulating the development of industries in the national
interest. It envisaged an active and dominant role of public sector.

The next Industrial Policy Resolution was placed before the Parliament
by the Prime Minister on 30t® April, 1956. It suggested that, “There is a
need for adoption of the socialist pattern of economy as the national
objective, along with the need for planned and rapid development. It
required that all industries of basic and strategic importance, or in public
utility services, should be in the public sector.

Other industries which are essential and require investment on a
massive scale (which only the State could provide) have also to be in the
public sector. Thus, the State has to assume direct responsibility for the
future development of industries.”

This Resolution classifies industries into three categories :

. The first category given in Schedule A, consists of industries the
future development of which will be the exclusive responsibility of
the State.

o In the second category given in Schedule B, are industries which

will be progressively State-owned. However, in them, private
enterprise will also be expected to participate.

o The third category comprises all the remaining industries, the
further development of which will be left to the initiative and
enterprise of the private sector.

On the basis of the given text and common understanding, answer the
following questions :

(1) “The Government of India, in the initial years of economic
development, emphasized on a greater role of the public sector in
the industrial development.”

Justify the statement, giving reasons in support of your answer.

(11)  Owutline and discuss the classification of industries into various
categories as per Industrial Policy Resolution, 1956.
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